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MODALS

Modal verbs (can, could, must, should, ought to, may, might, will, would, shall) are modal
auxiliary verbs that express ability, necessity, obligation, duty, request, permission, advice,
desire, probability, possibility, etc. Modal verbs express the speaker's attitude to the action
indicated by the main verb.

Examples:
1. She can swim. (ability)
2. They must attend the meeting. (strong necessity)
3. You should do regular exercise. (advice)
4. Could you help me with this assignment, please? (request)
5. The guests may stay here. (permission)
6. He would like to see her. (desire)
7. The manager might leave soon. (possibility)
8. My brother must be at playground now. (strong probability)
WILL, SHALL,
MUST, SHOULD
Desire
Certainity WILL, MUST
WILL Frediction Probability /' pogsibility ~ MAY, MIGHT
Range
SHOULD e Doubt CAN, COULD
Moral Duty/ Impossibility %Nﬁ'gOULDN'I‘.
OUGHT TO Advice Modals
Conditional
MUST, HAVE TO _ Obligatio € WOULL
Acceptance WILL
NEED NOT _ No obligation
P "
_DARE Venture/Courage —Ability CAN

Pesmission Determination  giaty, WILL



Question 1.

(A YOU .ot to love your siblings.

(o) B to talk to you.

(©)YoUu .ot lose your cool over petty matters.
(He oo speak politely.

(e) Children ............ccooviiinnn.n. avoid eating junk food.
Answer:

(a) ought

(b) need

(c) must not

(d) should

(e) must/should

Question 2.

Manish:1(a) ..ooovvviniiiiiiin do practice of wrestling every day

Rashid : Butyou (b) ...........cooviiiiiin. not overexert yourself so much.

Manish : T(C) voovvvvviniiiiiiiina win the competition at any cost.

Rashid : You (d) ....coovveveiiiiii. remember that our health takes priority over other
things.

Mohan : Oh yes! You (€) ...oovvvvvvenniinnnnnn... worry. [ am careful about my health.
Answer:

(a) must

(b) should

(c) have to

(d) must ought to
(e) need not

Question 3.

He is supposed to deliver a lecture today. He (a) .................coeet be in the auditorium
by now. Today,he (b) .................cooii. get up early to prepare the lecture. It was very
well delivered. He said that we (¢) ..........cooeiiiinnnann. all think carefully before our
actionsand (d) .................olll not miss opportunities in life.

Answer:
(a) must
(b) had to
(c) must
(d) should

Question 4.
Ruby : Papa, I have not seen Qutab Minar, we (a) ............ccceveeenn.. visit it.
Papa: Yes,we(b) .ocovvvviiiiiiiinin all go together next week and (c)



.......................... not forget it.
Ruby :(d) ..coooovviiiii, I remind you papa?
Papa : No child, I shall remember to plan the visit.

Answer:
(a) must
(b) will
(c) should
(d) May

Question5:
Fill in the blanks using suitable modals.

@HE ..o (not) go out as it is raining.

(b)The meeting will start just now. They ...................o.oeeeil. be present.
©They .oovvviiiiii start early as it was getting dark.

(DYou ..o not pluck flowers from the garden.

(e)She ..o stay up late. She is unwell.

(OWe oo to spend our money carefully.
(@) you go there?

(h)Come what may, I ............................ finish it by today.

(NThey .oovieiiii abuse the beggars.

MDWe o look after our aged parents.

Answer:

must not
have to
had to
must
mustn’t
ought
Need

have to
should not
should

PRACTICE EXERCISE ON THE NEXT PAGE THAT HAS TO BE DONE BY THE
STUDENTS ON THE BASIS OF THEIR UNDERSTANDING:



MODAL VEREBS

Read each sentence & choose what function the modal verb has in
that sentence:

1) Let's have a picnic today

2)Youmust _______ start exercising more frequently
3) Can you buy me a drink when you go to the store?
4)YCould __________ you do me a favour?

S)Youshould ____ see a doctor as soon as possible
6) will you help me with my homework?
7)Goodmorning. May ______ T speak to Mr Jones?
8)Con_____ T help you cook dinner?
9Can_____________ Tuse your pen?

10) You could try joining a gym to get fitter
11) Could I go home? I don't feel well

12) Shall we go for a walk this afternoon?

13) Shall I make breakfast for everyone?

14)Would ______ you lend me $20?

15) You've had quite a few beers. You had betternot _______ drive home
16) Wouldyoumind ______ giving me a lift to work?
17)Tcon_____________ lend you some money

18) Why don't I make us a drink?

19) Whydon't _____ we go for a hike?

20)Tcould ___  get youa coffee when I order mine

21)Howabout ___________ ordering uber eats tonight instead of cooking?
22)Yououghtto _______ go to bed. You look exhausted.
23) What about moving to a bigger apartment?

Click Over the link to get the knowledge about the following:

https://www.youtube.com/watch?v=tkgaBFERmMSCM



https://www.youtube.com/watch?v=tkgaFERmSCM
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DATE:-15/05/2021
UNIT2-SELF -MANAGEMENT SKILLS

1.How does confidence help in Self-management skill?

Confidence helps in self- management skill as it is the ability to believe in yourself and trust
your own judgement. Confidence is specially useful in the workplace when it comes to
problems or different tasks.

If we have confidence, we will be able to manage in every situation , in every place ; like at
home, workplace, etc.

2.Why self-management skills are important in our daily life?

Self-management skills are important in our daily life because it will enhance our
capabilities, will help us to make a better person, to cope up with all positive and negative
situation, to control our emotions etc.

3.What you will gain after getting Self- management skills?
We will gain various elements, if we will get self-management skills.
These are:

Self-control and self- confidence

Self-awareness

Self-development

Self-motivation

Positivity

Initiative

Productivity

Stress management

Take responsibility

Organization

Accountability

VVVVVYVYYVYVVYVYY

4.To overcome against Stress-management , list five points to resolve it.
The five points to resolve the stress are:

Get enough sleep

Take walks in nature

Stay away from conflict

Listen to music

Change your surroundings

YVVVVY



5. Identify the three factors that help to develop self- confidence?
The three factors to develop self- confidence are:
» Social factor: By surrounding yourself with others you create a rich supply of
opportunities to observe interactions and to improve upon your own social behaviour.
» Cultural factor: Culture is the lifeblood of a vibrant society, expressed in many ways
we tell our stories, celebrate remember the past etc.
» Physical factor: Exercise a powerful effect on confidence.

6.How could you develop your self-management skills? Name an example.
7.How could you demonstrate good self-management skills? Name an example.
(Do Question 6 and 7 on your own based on your understanding)

Click over the link to get the knowledge about the following:

https://www.youtube.com/watch?v=HrZKoVGNvkc



https://www.youtube.com/watch?v=HrZKoVGNvkc

HARI VIDYA BHAWAN
Worksheet—4
Class- IX
Subject- Life Skills
Session- 2021-22
Ch- 4 The Restless Rakshasa

Date-15/05/2021

Exercise:-

Q.1 Write T for True and F for False statements:
1. Rajappa’s tenants shifted to other villages.

2. Rajappa was relieved after meeting the holy man.
3. The genie was very friendly towards Rajappa.

4. Rajappa felt relaxed on seeing the holy man.

Q.2 Write the antonyms of the following words from the chapter:
1.Weak 2. Wise

3. Small 4. Push

5. Silence 6. Familiar
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WORK SHEET-06
SUBJECT - MATHEMATICS
CLASS - IX
CHAPTER - 04
(LINEAR EQUATION IN TWO VARIABLE)
SESSION - (2021-22)

9.

Write each of the following equations in the form ax + by + ¢ = 0 and indicate the values of a, b and c in each
case:

(i) 2x + 3y =4.37

(ii) x—4=3y

(iii) 4 =5x -3y

(iv) 2x=y

Write each of the following as an equation in two variables:
(i) Xx=-5

(ii) y=2

(iii) 2x=3

(iv) S5y=2

The cost of a notebook is twice the cost of a pen. Write a linear equation in two variables to represent this
statement. (Take the cost of a notebook to be ™ x and that of a pen to be " y).

Express the following linear equations in the form ax + by + ¢ = 0 and indicate the values of a, b and c in each
case:

(i) 2x+3y=9.35

(ii) x—-5y—-10=0

(iii) -2x+3y=6

(iv) X =3y

(v) 2x = -5y

(vi) y—2=0

Find two solutions for each of the following equations:

(i) 4x +3y =12

(ii) 2x+5y=0

(iii) 3y+4=0

Which one of the following options is true, and why?

y =3x+5 has

(i) a unique solution (i) only two solutions (iii) infinitely many solutions

Write four solutions for each of the following equations:

(i) 2x+y=7

(ii) mX+y=9

(iii) X =4y

Check which of the following are solutions of the equation x — 2y = 4 and which are not:
(i) (0,2)

(ii) (2,0)

(iii) (4,0)

Find the value of k, if x =2, y = 1 is a solution of the equation 2x + 3y = k

10. Write any four linear equation in two variable of your choice and plot it on graph. (Activity)



NOTE:

YV YV VVVYVY

For questions 01 & 02 please refer page no 67 & 68.

For question 03 watch video in given link
For question 04 watch video in given link
For question 05 please refer page no 69.

For question 04 watch video in given link :
For question 04 watch video in given link :
For question 04 watch video in given link :
For question 04 watch video in given link :

. https://www.youtube.com/watch?v=iVxw4E r1iNw

. https://www.youtube.com/watch?v=qgifhUQFZIsg

https://www.youtube.com/watch?v=qt6ebwZsDNO

https://www.youtube.com/watch?v=htrxb65Soag

https://www.youtube.com/watch?v=CZ Z5y JYws

https://www.youtube.com/watch?v=gXxm Oueobc



https://www.youtube.com/watch?v=iVxw4E_r1Nw
https://www.youtube.com/watch?v=qifhUQFZlsg
https://www.youtube.com/watch?v=qt6ebwZsDN0
https://www.youtube.com/watch?v=htrxb65Soag
https://www.youtube.com/watch?v=CZ_Z5y_JYws
https://www.youtube.com/watch?v=gXxm_Oueobc
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Worksheet - 6
Class- IX
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Session- 2021-22
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Instructions to be followed:
» All the worksheets have to do in fair notebook with exercise questions and
answers.
» All the diagrams have to draw with notes in front of the related topic.
» Students can draw these diagrams from the NCERT book of Science.

Motion

An object is said to be in motion if its position changes continuously with respect to a fixed
reference point called origin.
Movement of any object from one position to another position with respect to the observer is called
as Motion.

Motion Along a Straight Line:
When an object movesalong astraight line, the motion of the object is called rectilinear motion.
For example; motion ofacar onhighway.

Motion Along a circular path:

When an object moveswith uniform speed alongacirular pathissaid to be in circular motion.

Vectors Quantity:

Vector is a quantity which have both magnitude and direction.
For examples: Force, position etc.

Scalar Quantity:

Scalarisquantity withwhichdirectionisnotassociated.
Forexamples: Mass, temperature, time etc.

Distance:

Length of path covered by amovingan objectinthe giventime irrespective of direction is called
distance.

o ltisascalar quantity.
e Its Sl unit is meter(m).



Displacement:

The shortestdistance measured from initial to the final position of an objectis known as the
displacement.
o Itisavector quantity.
e Its Sl unit is metre(m).

> Displacement can be zero ,but distance can not.

Uniform Motion:
Whenan object coversequal distances inequal intervals of time, it is said to be
in uniform motion.

Non-Uniform Motion:
When an objectcoversunequal distancesinequal intervalsoftime, it is said to be
in non-uniform motion.

+» Distinguish between distance and displacement .

S.N Distance Displacement

1 | Lengthofpathcoveredbyamovingan 1. Theshortestdistance measured
objectinthegiventimeirrespective of fro_m initialtothefinalpositionofan
direction object.

It is a scalar quantity. 2. It is a vector quantity.
3 It can not be zero for a moving body. 3.1t can bezero.
4 It is always positive. 4.1t can be positive , negative or
zero.

Speed (s):

The distance travelled by an object in unit time is referred to as speed.
o ltisrepresentedas:
Speed = Distancetravelled = S/
Time taken
e Its Sl unit is metre/ second (m/s).
o ltisascalar quantity.

Average speed:

Fornon-uniformmotion, theaverage speed ofanobjectisobtained by dividing the total distance
travelled by anobject by the total time taken.

Total distance travelled
Total time taken

Averagespeed=



Velocity (V):

Speed ofanobjectinaparticular directionisnamedasvelocity, i.e., itisthe displacement of body in
unit time.
It is representedas:
Velocity= Displacement
Timetaken

Its SI unit is metre/ second (m/s).

Itis a vector quantity.

Average velocity:

The average velocity of abody is defined as total displacement of abody divided by total
time taken.
Average Velocity= Total Displacement

Total Timetaken

Acceleration (a):
The rate of change of velocity is termed as acceleration.
It is representedas:

. Final velocity — Initial velocity
Acceleration - -

Time
a=v-u
t
Where, v=finalvelocity
u = Initial velocity

t=Time

Its SI unit is metre/seccond? (m/s?).

It is a vector quantity.

Theacceleration istakento be positive if itisin the direction of velocity and negative when it is
opposite to the direction of velocity.

Negativeaccelerationisalsonamedas retardation or deacceleration.
Anobjectmovingonacircularpath though with uniformspeed, isalways said tobe accelerated as it
changes its direction every moment.

Uniform acceleration:
When velocity of body changesby equalamountsinequal time intervals, accelerationissaidtobe
uniform.Forexample: Motionofafreelyfallingball.



Non - uniform acceleration:
Whenvelocity ofbody changes by unequalamountsinequalintervalsiftime, acceleration is said to be

non - uniform. For example: Motion of car.

Graphical Representation of Motion

1. Distance -Time Graph for UniformSpeed:
Distance -Time graph for uniform speed, is a straight line as shown below:

Y

Distance

b
»

Time
Uniform speed

2. Distance -Time Graph for Non-Uniform Speed:
Distance-Timegraph for uniform speed, is obtained inthe form of acurve asshown below:

3. Distance -Time Graph for a Body at Rest:
Distance-Timegraphforabodyatrestisastra  Stationary Bodyight line parallel to the time axis (-

axis):

Distance

el
»

Time
Non-uniform speed



> Solving Problems Using The Formulae Of speed, velocity and

acceleration: Example 1: Amarbelrolling onasmooth floor hasan initial velocity of 0.4
m/s.If

Theflooroffersaretardationof0.02m/s? calculatethetime itwill take to come
to rest.

Solution: Initial velocity , u =0.4m/s ;Retardation,a=-0.02m/s?
Velocity ,v=0
a=v-u/tt
=v-u/a
=0-0.4/-0.02
=20 sec
Example 2: A car starts from rest and attains a velocity of 18 km/h in 2 sec.
Find it acceleration in Sl init.
Solution: initital velocity(u) = 0;  time (t) = 2sec
Final velocity (v) =18 km/ h =18 x 5/ 18 m/s =5 m/s
Acceleration,a=v-u/t=5/2=25m/s?

Answer the following questions:

1. Is it possible thatthetrainin which you aresittingappears tomove while it is at rest?

2. Distinguish betweenuniform and non-uniformacceleration.

[Hint:Check theanswer from Notes given above in worksheet]

3. Anobjecthasmovedthrough adistance. Can ithave zero displacement? Ifyes, support your
answer with an example.

4. A farmermoves alongthe boundaryof asquare field of side 10min40s.Whatwill be the
magnitude ofdisplacement ofthe farmerattheend of2 minutes20seconds from his initial
position?

5. Which of the following istruefordisplacement?(a) It cannot bezero.(b)Its

magnitude is greater thanthedistancetravelled bytheobject.

6. Distinguish between speed and velocity.

7. Underwhat condition(s) isthe magnitude of average velocity of an objectequal to its average
speed?

8. What does the odometer of an automobile measure?

9. What doesthe pathofan object look like when it is in uniform motion?

10. Duringanexperiment,asignalfromaspaceshipreachedthegroundstationinfive minutes. What

wasthedistanceofthespaceshipfromthegroundstation?The signal travels at the speed of light,
that is, 3 x 108 m/s.



11. Whenwillyousay abody isin (i) uniformacceleration? (ii) non-uniform acceleration?
12. Abusdecreasesitsspeed from80kmh-1to60kmh-1in5s.Findthe acceleration of

the bus.

13. Atrainstartingfromarailwaystationandmovingwithuniformaccelerationattains a speed 40 km h-1
in 10 minutes. Find its acceleration.
14. Whatisthenatureofthedistance-timegraphsforuniformandnon-uniform

motion of an object? Represent through distance -time graph.
15. Whatcanyou say about the motion of an object whose distance-time graph is a straight
line parallel to the time axis?

NOTE:
+* Above questions are given from NCERT blue box questions and exercise (page
no100,102,103,107). Forsolutioncheck the NCERT solutionapp.

» Clickoverthelinktogetthe knowledge about Restand Motion and for question
no 1:
https://www.youtube.com/watch?v=bX0PsZkJXMY

> Clickoverthelinktogetthe knowledge aboutuniformand nonuniform motion:
https://www.youtube.com/watch?v=s099gCD217WM

» Clickoverthislink to get the knowledge about Distance and Displacement:
https://www.youtube.com/watch?v=74YhUiih8Sw

» ClickoverthelinktogettheknowledgeaboutDifferencesbetween Distance and
Displacement:
https://www.youtube.com/watch?v=edm8uy709NY

> Clickover the link to get the knowledge about speed and velocity:
https://www.youtube.com/watch?v=Eg0HsO0dhpM

> Click over thislink to get the knowledge about acceleration:
https://www.youtube.com/watch?v=vxFYfumAAIY

> Click over the link to get the knowledge about types of acceleration:
https://www.youtube.com/watch?v=9smjFnjkW6w

> Clickoverthelinktogetthe knowledge about the chapter motion:_
https://www.youtube.com/watch?v=-ronW1KCu0A
https://www.youtube.com/watch?v=9sIP0Z-y ¢



http://www.youtube.com/watch?v=bX0PsZkJXMY
http://www.youtube.com/watch?v=s09qCD217WM
http://www.youtube.com/watch?v=74YhUiih8Sw
http://www.youtube.com/watch?v=edm8uy7O9NY
http://www.youtube.com/watch?v=Eg0HsO0dhpM
http://www.youtube.com/watch?v=vxFYfumAAlY
http://www.youtube.com/watch?v=9smjFnjkW6w
http://www.youtube.com/watch?v=-r0nW1KCu0A
http://www.youtube.com/watch?v=9sIP0Z-yc
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Ch-1 (The French Revolution)

NOTES: -
The Outbreak of the Revolution

In France, the monarch didn’t have the power to impose taxes. They had to call a meeting of the Estates-
General, a political body to which the three estates sent their representatives, to pass proposals for new
taxes. Louis XVI, on 5 May 1789, called an assembly to pass proposals for new taxes. Representatives
from the first and second estates were present and the third estate was represented by its prosperous and
educated members. According to the principle each estate had one vote. But, representatives from the third
estate demanded each member would have one vote. The demand was rejected so members of the third
estate walked out to protest. They swore not to disperse till a constitution drafted for France that would
limit the powers of the monarch.

Louis XVI accorded recognition to the National Assembly and accepted the principle that his powers
would from now on be checked by a constitution. The Assembly passed a decree abolishing the feudal
system of obligations and taxes on 4 August 1789. Tithes were abolished and lands owned by the Church
were confiscated.

France Becomes a Constitutional Monarchy

In 1791, The National Assembly completed the draft of the constitution and its main object was to limit the
powers of the monarch. These powers were now separated and assigned to different institutions — the
legislature, executive and judiciary. France became a constitutional monarchy.

Citizens voted for a group of electors, who in turn chose the Assembly, but unfortunately, not every citizen
had the right to vote. Men above 25 years of age who paid taxes equal to at least 3 days of a labourer’s
wage were entitled to vote. The Constitution began with a Declaration of the Rights of Man and Citizen.
Rights such as the right to life, freedom of speech, freedom of opinion, equality before law, were
established as ‘natural and inalienable’ rights, that is, they belonged to each human being by birth and
could not be taken away.

France Abolishes Monarchy and Becomes a Republic

In April 1792, the National Assembly voted for a war against Prussia and Austria. Marseillaise became the
national anthem of France. While men were away fighting at the war, women took care of their families.
Large sections of the population demanded that the revolution had to be carried further, as the Constitution
of 1791 gave political rights only to the richer sections of society. Political clubs were formed and among
them, Jacobins became the most successful club. Members of the Jacobin club included small shopkeepers,
artisans such as shoemakers, pastry cooks, watch-makers, printers, as well as servants and daily-wage
workers. Elections were held and all men of 21 years and above got the right to vote. Monarchy was



abolished on 21 September 1792 and France was declared a republic. Louis XV1 was sentenced to death by
a court on the charge of treason.

The Reign of Terror

The period from 1793 to 1794 is referred to as the Reign of Terror. People whom Robespierre saw enemies
of the republic were arrested, imprisoned and then tried by a revolutionary tribunal. If they were declared
guilty by the court then they were guillotined. The guillotine is a device consisting of two poles and a
blade with which a person is beheaded.

A Directory Rules France

Fall of the Jacobin government allowed the wealthier middle classes to seize power. According to the new
constitution, non-propertied sections of society denied voting. It provided for two elected legislative
councils. The government appointed a Directory, consisting of executives made up of five members.
Political instability paved the way for a military dictator, Napoleon Bonaparte.

The Abolition of Slavery

Jacobin regime’s most revolutionary social reform was the abolition of slavery in the French colonies. In
the seventeenth century, slavery trade began. Slaves were brought from local chieftains, branded and
shackled and were packed tightly into ships for the three-month-long voyage across the Atlantic to the
Caribbean. Slave labour met the growing demand in European markets for sugar, coffee, and indigo.
Throughout the eighteenth century, there was little criticism of slavery in France. In 1794, the Convention
legislated to free all slaves in the French overseas possessions. Napoleon introduced slavery after ten years.
In 1848, slavery was abolished in French colonies.

Conclusion

Napoleon Bonaparte crowned himself Emperor of France, in 1804 and introduced many laws such as the
protection of private property and a uniform system of weights and measures provided by the decimal
system. Napoleon was defeated at Waterloo in 1815. The ideas of liberty and democratic rights were the
most important legacy of the French Revolution. Colonised peoples reworked on the idea of freedom to
create a sovereign nation-state.

Short Questions

Q1. How would you explain the rise of Napoleon?

Q2. What were the main features of the Constitution of 1791?
Q3. What were the salient features of Robespierre’s government?
Note:- To get knowledge about this chapter clink on via link:-
https://youtu.be/NMDg60XY'rug



https://youtu.be/NMDq6oXYrug

